O
O
(]
o
©
20
10
O
o
8 0
©
-10
-20
0.5
0.4
& 0.3
0.2
0.1
0.0
__ 100
o
© 50
(@)
o
S 0
¥
E -50
<
-100
100
©
S
=<
>

arcsec

20

ESO 418-009

40

-20

-10

0
arcsec

10

20

AP AL L LT L ekl
0 5 10 135 20

r | .
- I -
E : rbar E
;+ L o+ + F + + 4 :+ S I E * 7:
§ | ]
C ! .
§ ! .
- | o | ‘ ]
0 5 10 15 20

Radius (arcsec)

O \\\\\\\\\‘\\l\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\7\

0

10

20 30
Radius (arcsec)

40

0.80

0.60

0.40

10.20

-0.40

-0.60

-0.80

arcsec

Vs 6um (KM s™)

1.2[

0.0

> 20

1.2[

1.0
0.8
0.6
0.4

0.2

60

40

1.0

0.8

0.4

0.2

-40 -20 0 20 40
arcsec
h= 11"
h= 15" -
I __he= 27 ]
B Foar n

10 15
Radius (arcsec)

10 20 30 40 50

Radius (arcsec)

Q,: 0.60" % AP 0.31

rew: 8.2 arcsec ro: 9.8 arcsec

Qe 0.47 Ay(roer) = 0.31

raoom ;8.2 arcsec AP 0.16

Q™ : 0.49 Vi, ¢ 5017 5 km/s

reareny ;6.8 arcsec e  30.75, ;5 arcsec

(Qparontyyhalo-cor . 39 Vieum(Rop) © 44.87 5 km/s
(rgyomvynaloor ;6.8 arcsec  dpVagm(0) : 62.67 53 km/s/kpe
Q(rpar) - 0.43_*5?-(?5 Mh/M*(<Ropt) : 1.88
Qe )1 0.32 a: 3.3kpc
e: 0.74 V_: 68.2km/s
T | T
| |
I |
— QT 1 i
. 1
L Q_r;_alo corr | _
_ Q_t|)_ar-only : :
_ Q_kl)_ar-only&halo-corr : |
L | N
| |
1 |
I —
1
L | rbar _
1 |
1 |
— |
- /< 4 - . 1 |
’ ’ e '~ N , |
(A \ _
4 \ !
v\ ! b
- \ 1 —
\
\
I\ ~ =
T S— .
| [ I I BT BT e B
5 10 15 20

Radius (arcsec)



